FA96 (Form 650019)

CONTRACT

5-30-17 11b.

Letting Date: April 18, 2017 Contract ID: 97-C097-131 Bid Order No.: 162

County: WOODBURY Project Engineer: WOODBURY COUNTY ENGINEER

Cost Center: 801000 Object Code: 860

Contract Work Type: HMA RESURFC/COLD IN-PLC RECYCL

This agreement made and entered by and between the BOARD OF SUPERVISORS OF WOODBURY COUNTY, IOWA, CONTRACTING AUTHORITY, AND

HENNINGSEN CONSTRUCTION, INC. OF ATLANTIC, IA, (HE400), CONTRACTOR

It is agreed that the notice and instructions to bidders, the proposal filed by the Contractor, the specifications, the plan, if any, for project(s) listed below, together with Contractor's performance bond, are made a part hereof and together with this instrument constitute the contract. This contract contains all of the terms and conditions agreed upon by the parties hereto. A true copy of said plan is now on file in the office of the Contracting Authority under date of 04/13/2017

PROJECT: FM-C097(131)--55-97

COUNTY: WOODBURY

WORK TYPE: HMA RESURFC/COLD IN-PLC RECYCL

ACCOUNTING ID: 34317

ROUTE: L37

LENGTH (MILES): 6

LOCATION: L37: FROM HWY 20 TO D38

NON-FEDERAL AID - PREDETERMINED WAGES ARE NOT IN EFFECT

The specifications consist of the <u>Standard Specifications for Highway and Bridge Construction, Series 2015</u>
of the <u>Iowa Department of Transportation</u> plus the following Supplemental Specifications, Special Provisions, and addendums: GS-15004

Contractor, for and in considerations of \$1,716,531.71 payable as set forth in the specifications constituting a part of this contract, agrees to construct various items of work and/or provide various materials or supplies in accordance with the plans and specifications therefore, and in the locations designated in the Notice to Bidders.

Contractor certifies by signature on this contract, under pain of penalties for false certification, that the Contractor has complied with Iowa Code Section 452A.17(8) as amended, if applicable, and Iowa Code Section 91C.5 (Public Registration Number), if applicable.

In consideration of the foregoing, Contracting authority hereby agrees to pay the Contractor promptly and according to the requirements of the specifications the amounts set forth, subject to the conditions as set forth in the specifications.

It is further understood and agreed that the above work shall also be commenced or completed in accordance with Page 1B of this Contract and assigned Proposal Notes.

To accomplish the purpose herein expressed, the Contracting authority and Contractor have signed this and one other identical instrument.

For Federal-Aid contracts the Contractor certifies that each subcontract is evidenced in writing and that it contains all pertinent provisions and requirements of the contract.

By Contractor (if joint venture)

By Contractor (if joint venture)

May 30 2017

Contractor (if joint venture)

May 30 2017

Contractor (if joint venture)

Letting Date:

April 18, 2017 Contract ID: 97-C097-131

Bid Order No.: 162

It is further understood and agreed that the above work shall be commenced or completed in accordance with the following schedule:

SITE	CONTRACT PERIOD	LIQUIDATED
NUMBER	/SITE DESCRIPTION	DAMAGES
L		

CONTRACT LATE START DATE 08/14/2017 40 WORKING DAYS

\$1,500.00

CONTRACT NOTES

Page: 2

Bid Order No.: 162 Vendor No.: HE400

Letting Date: April 18, 2017

Pr.	imary County: WOODBURY					
T :	The New Year	Item Quantity	Unit Price	Bid Amount		
No		and Unit	Dollars Cts			
SECTI	SECTION 0001 ROADWAY ITEMS					
0010		 293.300 CY	 13.00000	3,812.90		
	2121-7425020 GRANULAR SHOULDERS, TYPE B	 5,900.000 TON	 37.62000	221 , 958.00		
	2212-0475095 CLEANING AND PREPARATION OF BASE 	 6.000 MILE	 500.00000 	3,000.00 		
	2212-5070310 PATCHES, FULL-DEPTH REPAIR	 34.200 SY	220.00000	 7,524.00 		
0050	2212-5070330 PATCHES BY COUNT (REPAIR)	 2.000 EACH	150.00000	 300.00 		
0060	2214-5145150 PAVEMENT SCARIFICATION	 1,286.600	6.64000	 8,543.02 		
0070	2301-0690210 BRIDGE APPROACH, TWO LANE	 622.200 SY	131.00000	 81,508.20 		
0080	2303-1032500 HOT MIX ASPHALT STANDARD TRAFFIC, INTERMEDIATE COURSE, 1/2 IN. MIX	7,410.000	 36.18000 	268,093.80 		
0090	2303-1033500 HOT MIX ASPHALT STANDARD TRAFFIC, SURFACE COURSE, 1/2 IN. MIX, NO SPECIAL FRICTION REQUIREMENT	TON	 37.46000 	262,220.00 		
0100	2303-1258343 ASPHALT BINDER, PG 58-34S, STANDARD TRAFFIC	 865.000 TON	 427.50000 	 369,787.50 		

Page: 3

Vendor No.: HE400

Bid Order No.: 162

Contract ID No.: 97-C097-131 Letting Date: April 18, 2017 Primary Work Type: HMA RESURFACING/COLD IN-PLACE RECYCLING 10:00 A.M.

Primary County: WOODBURY

LI	imary country. Woodboki				
Line	 Item Number	Item Quantity and Unit		Unit Price	Bid Amount
	Item Description			Dollars Cts	l
0110	2303-6911000 HOT MIX ASPHALT PAVEMENT SAMPLES 	 LUMP 		 LUMP 	2,500.00
0120	2303-9091010 RUMBLE STRIP PANEL (HMA SURFACE)	 EACH	2.000	 775.00000	1,550.00
0130	2316-0000120 PAYMENT ADJUSTMENT INCENTIVE/DISINCENTIVE FOR HMA PAVEMENT SMOOTHNESS (BY SCHEDULE)	 EACH 	13,500.000	1.00000	13,500.00
0140	2318-1001100 COLD IN-PLACE RECYCLED ASPHALT PAVEMENT	 SY	77,466.000	 1.58000	122,396.28
0150	2318-1001220 ASPHALT STABILIZING AGENT (FOAMED ASPHALT)	 TON	337.000		127,517.43
	2510-6745850 REMOVAL OF PAVEMENT 	 SY	622.200		10,577.40
	2518-6910000 SAFETY CLOSURE 	 EACH	4.000	 75.00000 	300.00
0180	2527-9263109 PAINTED PAVEMENT MARKING, WATERBORNE OR SOLVENT-BASED	 STA 	1,788.940	 7.85000 	14,043.18
	2528-8445110 TRAFFIC CONTROL 	 LUMP 	 	LUMP	17,550.00
0200	2528-8445113 FLAGGERS 	 EACH	 80.000 	450.00000 	36,000.00

CONTRACT SCHEDULE OF PRICES

Page: 4

Vendor No.: HE400

Bid Order No.: 162

Contract ID No.: 97-C097-131 Letting Date: April 18, 2017 Primary Work Type: HMA RESURFACING/COLD IN-PLACE RECYCLING 10:00 A.M.

Primary County: WOODBURY

rrandr, counc, meebbox					
Line Item Number No Item Description	Item Quantity and Unit I	Unit Price Bid Amount Dollars Cts Dollars Cts			
2528-8445115 PILOT CAR 0210	S 40.000 EACH	675.00000 27,000.00			
2533-4980005 0220 MOBILIZATION 		UMP 116,850.00			
TOTAL BID	 	1,716,531.71			
